kimalsla limits 1 trig.mcd seminar 2

section 1
. sin(x) — sin(a
lim sin() — sin(a) — cos(a)
X —>a X-a
lim S8 — cos@ —sin(a)
X —>a X-a
lim cos(3x) — cos(x) o
Xx—>0 X2
i — 2.si i —
lim sin(a + X) sin(a) + sin(a — x) ~ _sin(a)
Xx—>0 x2
. cos(a + x) — 2-cos(a) + cos(a — X
lim ( ) G ( ) — —cos(a)
Xx—>0 X2
in(2x) — 2-sin
lim sin(2x) sin(x) 4
Xx—>0 X3
section 2
in
lim SN,
x>0 3X
n
lim By
x — 0 Sin(x)
sin(2 2
() 2
x — 0 tan(3x) 3
in(2x) — sin
lim sin(2x) — sin(x) 1
Xx—0 X
n(2x) — tan
lim tan(2x) — tan(x) 1
Xx—0 X
in — 2sin(2- in
lim sin(3x) sin(2-x) + sin(x) P
Xx—>0 X3
-2 2.
lim cos(3x) cos(2-X) + cos(x) 3
Xx—>0 X2
n(x) — sin 1
lim tan(x) — sin(x) N
Xx—>0 X3
section 3
in(2x) — 2-sin
lim sin(2x) sin(x) 4
Xx—>0 X3
in — 3-sin
lim sin(3x) — 3-sin(x) 4
Xx—>0 X3
in in(3-x) — sin(4
lim sin(x) + sin(3-x) — sin(4x) 6

x—>0 X3



cos(2x) — cos(3x 5
lim (2x) (3%) - =

Xx—0 X2
. cos(X) + cos(3-X) — 2 cos(2x
i COS(X) + cos(3x) — 2c08(2x)
Xx—0 X2
. tan(2x) — 2-tan(x
i tEn(29) ()
Xx—0 X3
tan(x tan(3-x) — tan(4x
lim (X) + tan(3-x) (4x) 12
Xx—0 x3
. tan(x) — sin(x 1
lim fan(x) — sin(x) - =
Xx—>0 x3 ?
section 10
\/cos(x) converts to the series 1 2 4 ( 6)
- —X ——:X + Olx
4
1 converts to the series 1 2 4 ( )
1+—X +—X + Olx
cos(x) 2
1 converts to the series > 53 2 4 6l s
S E—— 1-1x+1x —=X +=—=X ——x +0
1 + sin(x) 6 3 120

X
+
o

sin(tan(2x)) converts to the series 4 3 4 5 ( 6)
2-X + E-x - — X

i converts to the series 7 59
tan(2 sin(x)) 2.X + g.x3 + %-xs + O(XG)



